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CLASS-XII 

MEDIA STUDIES  
Time: 3 Hours Theory: 80 Marks 

 

OBJECTIVES 
 

Communication media have under gone big changes during a couple of 
decades and made its importance more meaningfully and abundantly felt. This has 
made our society awake in era of various new concepts and phenomena such as 
globalization, social media, civil society, new media and so on. It is being felt that 
communication media are playing an important role in shaping young minds, hence 
introductory information and practice is to be provided to students in this subject, 
at this stage. 

 
STRUCTURE OF QUESTION PAPER (THEORY) 

 
1. The questions shall be set keeping in mind that the subject matter is for 

beginners in this subject/ field. 
2. There will be 34 questions, all compulsory. 
3. Part- I of the question paper shall consist of 20 questions of 1 mark each. All 

to be set from whole of syllabus. 
1×20=20 

4. Part- II of the question paper shall consist of 5 Short Answer questions of 3 
marks each. The answer to such questions may run into four to five 
sentences. All questions shall cover whole of the syllabus, at least one from 
each group.       3×5=15 

5. Part- III of the question paper shall consist of 5 Short Answer questions of 4 
marks each with internal choice. The examinees shall answer these in a 
paragraph or two in size or length. Paper setter shall select three questions 
and choice questions too each from each unit. 

4×5=20 
6. Fourth part of the question paper shall contain 2 questions of 6 marks each, 

with 100% external choice, equally chosen from each unit. Each question 
will be in form of writing two notes on various subjects from the syllabus. 
Each note must not be more than 100 words. 

   6×2=12 
7. Fifth part of the question paper shall contain a source based question. The 

students shall answer the questions from given comprehensive paragraph. 
All questions will be objective type with at least one question of matching 
items from two columns. 

                                                                                                                                     131=13 

 


